Total No. of Printed Pages—7
1 SEM FYUGP SOCC1

2024

( December )

SOCIOLOGY
( Core )
Paper : SOCC1

( Introduction to Sociology—I )

Full Marks : 60 (80 for 2023 Batch)

Time : 2 hours (3 hours for 2023 Batch)

The figures in the margin indicate full marks
for the questions

1. w@ﬁmﬁww.@%mﬁzﬁaﬁ%ﬁ@:
1x6=6

Choose the correct answer from the following

options :
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In 17th  century the Industrial
Revolution took place in which country

of the world?
(i) SRS LAl
United States
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Which of the following is not a
characteristic of primary group?

() ST Siifeg
Physical nearness
() R HRF
Large in size
(ii}) T3 wEfy
Continuity in relationship
(iv) SR <Brs oy

None of the abovye
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KingSIEy Davis
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H. M. JohnSOn
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Maclyer and Page

(iv) S5 Sy
Arnold Green
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words each) :

Difference
Anthropology

@R S 3RBTR
[n-group and out-group

e A

Social institution
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Demograp
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Sociology and common Sense
o
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Elements of association
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Answer any from the following

three from
questions (with e

¥ following Answer any wo
In 500 words each)

: questions :
(a) AEse & 7@
e T R wm e e () e i e €T T
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t S
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